
 

 

  
 
 
 
 
 

APPOLO STUDY CENTRE 
 

TRB – Maths 
 

1. Edge of regression of the rectifying developable has the equation 

a. ( )R r K zt kb= + +
�� � � �

   b. ( )R r K zt kb= − +
�� � � �

 

c. 
( )

| |

K zt kb
R r

K z kz

+
= +

−

� �
�� �

   d. R r k z b= + + +
�� � �

 

xU Neh;g;gLj;Jk; tphpaj;jf;f tpspk;gpd; gpd;dilT rkd;ghlhdJ? 

a. ( )R r K zt kb= + +
�� � � �

   b. ( )R r K zt kb= − +
�� � � �

 

c. 
( )

| |

K zt kb
R r

K z kz

+
= +

−

� �
�� �

   d. R r k z b= + + +
�� � �

 

 
2. A necessary and sufficient condition for a surface to be a developable is that 

its Gaussian curvature is 
a. 1  b. 2  c. -1  d. 0 
xU Nkw;jsk; tphpaj;jf;fjhf mikaj; Njitahd kw;Wk; NghJkhd 
epge;jid> fhrpad; tistpd; kjpg;G gpd;tUkhW: 
 

3. Serret Frenet Formulae are given by 

a. | |, ,t kn n zb kt b zn= = − = −
�� ��� � � � �

  b. | |, ,t kn b zb kt n zn= = − = −
�� ��� � � � �

 

c. | |
t n b=

���
     d. |,t nb n tb= =

��� �� ��
 

nrul;-g;nudl; tha;ghLfs; 

a. | |, ,t kn n zb kt b zn= = − = −
�� ��� � � � �

  b. | |, ,t kn b zb kt n zn= = − = −
�� ��� � � � �

 

c. | |
t n b=

���
     d. |,t nb n tb= =

��� �� ��
 

 
4. Directions of parametric curves are conjugate if 

a. 0M ≠  b. M = 1  c. M = 0 d. M = ∞  
msTU tistiuapd; jpirfs; ,izapathf ,Uf;f Ntz;Lnkdpy; 
a. 0M ≠  b. M = 1  c. M = 0 d. M = ∞  
 



 

 

5. In the canonical form of a Linear programming problem, the objective 
function 
a. must be of maximization type 
b. must be of minimization type 
c. may be of maximization type 
d. is not defined. 
 epakd tbtj;jpy; cs;s Nehpay; epuyhf;Fk; fzf;fpd; Fwpf;Nfhs; rhh;G 
a. fz;bg;ghf kPg;ngUtifapy; ,Uf;Fk; 
b. fz;bg;ghf kPr;rpWtifapy; mikAk; 
c. kPg;ngU my;yJ kPr;rpW tifapy; mikayhk; 
d. tiuaWf;f KbahJ. 
 
 

6. The system of Linear equations 1 2 3 1 2 32 4,2 5 5x x x x x x+ + = + + =  has the basic 

feasible solutions 

a. 1 2 1 3 2 3

5
2, 1; 5, 1; , 5

3
x x x x x x= = = = − = =  

b. 2 1 1 3 2 3

5 2
1, 2; 5, 1; ,

3 3
x x x x x x= = = = − = =  

c. 1 2 1 32, 1; 5, 5x x x x= = = =  

d. 1 2 2 3

5
2, 1; , 2

3
x x x x= = − = =  

1 2 3 1 2 32 4,2 5 5x x x x x x+ + = + + =  vd;w Nehpay; rkd;ghLfspd; mikg;gpd; 

mbg;gil cfe;j jPh;Tfshtd 

a. 1 2 1 3 2 3

5
2, 1; 5, 1; , 5

3
x x x x x x= = = = − = =  

b. 2 1 1 3 2 3

5 2
1, 2; 5, 1; ,

3 3
x x x x x x= = = = − = =  

c. 1 2 1 32, 1; 5, 5x x x x= = = =  

d. 1 2 2 3

5
2, 1; , 2

3
x x x x= = − = =  

 
7. Dual problem of the linear programming problem  : 

Maximize 1 22Z x x= + , subject to the constraints 

1 2 1 2 1 2 1 2 1 22 10, 6, 2, 2 1, , 0x x x x x x x x x x+ ≤ + ≤ − ≤ − ≤ ≥  is 

a. max *

1 2 3 410 6 2z ω ω ω ω= − + +  

   sub : 1 2 3 4 1 2 3 42,2 1ω ω ω ω ω ω ω ω+ + − ≥ + + + ≥  

  1 2 3 4, , , 0ω ω ω ω ≥  

b. max *

1 26 10z ω ω= +  

     Sub : 1 2 1 2 1 2 1 2 3 46, 2, 2 1, , , , 0ω ω ω ω ω ω ω ω ω ω+ ≤ − ≤ − < ≥  

c. min *

1 22z ω ω= +  



 

 

    sub : 1 2 1 2 1 2 1 2 1 22 10, 6, 2, 2 1, , 0ω ω ω ω ω ω ω ω ω ω+ ≤ + ≤ − ≤ − ≤ ≥  

d. min *

1 2 3 410 6 2z ω ω ω ω= + + +  

    sub : 1 2 3 4 1 2 3 42, 2 1ω ω ω ω ω ω ω ω+ + + ≥ + − − ≥  

     1 2 3 4, , , 0ω ω ω ω ≥  

1 2 1 2 1 2 1 2 1 22 10, 6, 2, 2 1, , 0x x x x x x x x x x+ ≤ + ≤ − ≤ − ≤ ≥  vd;w Nehpay; epuyhf;f 

fzf;fpd; ,Ukf; fzf;fhdJ  

a. max *

1 2 3 410 6 2z ω ω ω ω= − + + epge;jidfs; 

   sub : 1 2 3 4 1 2 3 42,2 1ω ω ω ω ω ω ω ω+ + − ≥ + + + ≥  

  1 2 3 4, , , 0ω ω ω ω ≥  

b. max *

1 26 10z ω ω= +  

     Sub : 1 2 1 2 1 2 1 2 3 46, 2, 2 1, , , , 0ω ω ω ω ω ω ω ω ω ω+ ≤ − ≤ − < ≥  

c. min *

1 22z ω ω= +  

    sub : 1 2 1 2 1 2 1 2 1 22 10, 6, 2, 2 1, , 0ω ω ω ω ω ω ω ω ω ω+ ≤ + ≤ − ≤ − ≤ ≥  

d. min *

1 2 3 410 6 2z ω ω ω ω= + + +  

    sub : 1 2 3 4 1 2 3 42, 2 1ω ω ω ω ω ω ω ω+ + + ≥ + − − ≥  

     1 2 3 4, , , 0ω ω ω ω ≥  

 
8. The number of basic variables in a m ×n transportation table is 

a. m + n   b. m +n -1 
c. m – n +1   d. mn 
m ×n ml;ltiz nfhz;l Nghf;Ftuj;Jf; fzf;fpy; cs;s mbg;gil 
khwpfspd; vz;zpf;if 
a. m + n   b. m +n -1 
c. m – n +1   d. mn 

9. For a game with the Pay-off matrix 1

5 1

3 4
P
 
 
 

 the value of the game is 

a. 
4

5
  b. 

3

5
  c. 

12

5
  d. 

17

5
 

xU Ml;lj;jpd; ,og;G <l;bg;G mzp 1

5 1

3 4
P
 
 
 

 vdpy;> me;j Ml;lj;jpd; kjpg;G  

 

a. 
4

5
  b. 

3

5
  c. 

12

5
  d. 

17

5
 

 
10. In Pure Birth process 

a. only arrivals are counted no departure takes place 
b. only departure takes place 
c. neither arrival nor departure takes place 
d. both arrivals and departure are counted 



 

 

J}a gpwg;G top Kiwapy;> fPo;f;fz;l xU gz;G mikAk;: 
a. tUif kl;LNk vz;zg;gLk;> tpyFjy; ,y;iy 
b. tpyFjy; kl;LNk eilngWk; 
c. tUif kw;Wk; tpyFjy; ,uz;LNk eilngwhJ 
d. tUif kw;Wk; tpyFjy; ,uz;LNk vLj;Jf; nfhs;sg;gLk;. 

 

11. Let 2 1
( ) sin , 0f x x x

x
= ≠  and (0) 0f = . Then 

a. 1(0)f  exists and 1f  is not continuous at 0 

b. 1(0)f  exists and 1f  is continuous at 0 

c. 1f (0) does not exist, 1f  is continuous at 0 

d. 1f (0) does not exist, 1f  is not continuous at 0 

2 1
( ) sin , 0f x x x

x
= ≠ kw;Wk; (0) 0f =  vd;w rhh;gpw;F  

a. 1(0)f  mikAk;> 1f njhlh;r;rpaw;wJ  

b. 1(0)f mikAk;>  1f njhlh;r;rpahdJ 

c. 1f (0) mikahJ> 1f njhlh;r;rpahdJ 

d. 1f (0) mikahJ> 1f  njhlh;r;rpaw;wJ  

 

12. Let [ , ], ,E a b m E⊂  be the outer measure of E and mE  be the inner measure 

of E. Then 

a. mE mE≤     b. mE mE=  

c. mE mE>      d. 0mE mE+ =  

[ , ], ,E a b m E⊂  vd;gJ E d; Gw msit> mE  vd;gJ d; mf msit vdpy;  

a. mE mE≤     b. mE mE=  

c. mE mE>      d. 0mE mE+ =  

 
13. If E1, E2 are measurable subsets of [0, 1] and m[E1]=1, then 

a. 1 2 1[ ] [ ]m E E m E∩ =    b. 1 2 2[ ] [ ]m E E m E∩ =  

c. 1 2[ ] [ ]m E m E=    d. 1 2 1 2[ ] [ ] [ ]m E E m E m E∩ = +  

E1, E2 vd;gd [0, 1] y; cs;s mstplj;jf;f cl;fzq;fs;> m[E1]=1 vdpy;  

a. 1 2 1[ ] [ ]m E E m E∩ =    b. 1 2 2[ ] [ ]m E E m E∩ =  

c. 1 2[ ] [ ]m E m E=    d. 1 2 1 2[ ] [ ] [ ]m E E m E m E∩ = +  

 

14. Let 2( ) , ;f x x xπ π= − ≤ ≤  then the value of Fourier coefficient a0 is  

a. 23 / 2π   b. 22 / 3π   c. 2 / 3π   d. 2 / 2π  
2( ) , ;f x x xπ π= − ≤ ≤  a0  vd;w g;G+hpah; nfOtpd; kjpg;G 

a. 23 / 2π   b. 22 / 3π   c. 2 / 3π   d. 2 / 2π  
 



 

 

15. If ( )f x  is an even function in xπ π− < < , then value of the Fourier 

coefficient bn is 
a. 1  b. 0  c. π   d. 2π  

xπ π− < <  vd;w ,ilntspapy; ( )f x  vd;gJ ,ul;ilr; rhh;G vdpy;> g;G+hpah; 

nfO d; kjpg;G 
a. 1  b. 0  c. π   d. 2π  

 

16. If [ ],f π π∈ −  and f  is continuous at [ ],x π π∈ −  then ( )f x  can be expanded 

as a Fourier series: 

a. 0

1

( cos sin )k k

k

q q kx b kx
∞

=

+ +∑  b. 0

1

( cos sin )
2

k k

k

q
q kx b kx

∞

=

+ +∑  

c. 0

1

( cos sin )
2

k k

k

q
q kx b kx

∞

=

+ −∑  d. 0

1

( cos sin )k k

k

q q kx b kx
∞

=

− −∑  

[ ],f π π∈ − , [ ],x π π∈ −  y; f  njhlh;r;rpahdJ vdpy; ( )f x  I fPo;f;fz;l xU 

g;G+hpah; tphpthf;fkhf $w KbAk;. 

a. 0

1

( cos sin )k k

k

q q kx b kx
∞

=

+ +∑  b. 0

1

( cos sin )
2

k k

k

q
q kx b kx

∞

=

+ +∑  

c. 0

1

( cos sin )
2

k k

k

q
q kx b kx

∞

=

+ −∑  d. 0

1

( cos sin )k k

k

q q kx b kx
∞

=

− −∑  

 
17. Parseval identity is given by 

a. 2 2 2

0 0 0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

= =∫ ∫ ∫  

b. 2 2 2| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞ −∞ −∞

= =∫ ∫ ∫  

c. 2 2 2

0 0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞

= =∫ ∫ ∫  

d. 2 2

0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞ −∞

= =∫ ∫ ∫  

ghh;Nrty; Kw;nwhUik vd;gJ 
 

 a. 2 2 2

0 0 0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

= =∫ ∫ ∫  

b. 2 2 2| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞ −∞ −∞

= =∫ ∫ ∫  

c. 2 2 2

0 0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞

= =∫ ∫ ∫  



 

 

d. 2 2

0

| ( ) | | ( ) | | ( ) |
c s

F s ds F s ds f x dx

∞ ∞ ∞

−∞ −∞

= =∫ ∫ ∫  

 

18. 
1

s
F

x

 
 
 

   is 

a. s  b. s   c. 
1

s
   d. 

1

x
 

1
s

F
x

 
 
 

d; kjpg;G 

 

a. s  b. s   c. 
1

s
   d. 

1

x
 

 

19. Fourier sine transform ( )ax

s
F e−  is 

a. 
2 22 ( )

s

s a

π

+
   b. 

2 2( )

a

s a+
 

c.  
2 2

2

( )

s

s aπ +
   d. 

2 2( )

s

s a+
 

( )ax

s
F e−  d; kjpg;G  

a. 
2 22 ( )

s

s a

π

+
   b. 

2 2( )

a

s a+
 

c.  
2 2

2

( )

s

s aπ +
   d. 

2 2( )

s

s a+
 

 
20. Let ( ) 1f x =  if | | 1x ≤  and 0 if | | 1x >  . The Fourier cosine transform for ( )f x  

is 

a. 
2 sin s

sπ
    b. 

sin

2

s

s

π
 

c. 
2 sin s

sπ
    d. 

sin

2

s

s

π
 

| | 1x ≤  vdpy; ( ) 1f x = , | | 1x > vdpy; 0 vd;w rhh;gpd; ( )f x  g;G+hpah; fplf;if 

cUkhw;W. 

a. 
2 sin s

sπ
    b. 

sin

2

s

s

π
 

c. 
2 sin s

sπ
    d. 

sin

2

s

s

π
 

 
21. If two vectors x and y in a Hilbert space H are orthogonal, then 



 

 

a. 2 2| || || ||x y x y+ = −    b. 2 2 2|| || || || || ||x y x y+ = −  

c. || || 0x y+ =     d. || || || ||x y=  

H vd;gJ `py;gh;l; ntsp; x, kw;Wk; y vd;w jpirad;fs; nrq;Fj;jhf 
mikaj; Njitahd epge;jid: 

a. 2 2| || || ||x y x y+ = −    b. 2 2 2|| || || || || ||x y x y+ = −  

c. || || 0x y+ =     d. || || || ||x y=  

 
22. Let {ei} be an orthonormal set in a Hilbert space H. Then for any x H∈  

a. 2 2| ( , ) | || ||
i

x e x∑ <    b. 2 2| ( , ) | || ||
i

x e x∑ =  

c. 2 2| ( , ) | || ||
i

x e x∑ >    d. 2 2| ( , ) | || ||
i

x e x∑ ≤  

H vd;w `py;gh;l; ntspapy;> {ei}  vd;gJ newpk myF nrq;Fj;J vdpy;> Hy; 

cs;s xt;nthU jpirad; xk; fPo;f;fz;l xU epge;jidiag; G+h;j;jp nra;Ak;  

a. 2 2| ( , ) | || ||
i

x e x∑ <    b. 2 2| ( , ) | || ||
i

x e x∑ =  

c. 2 2| ( , ) | || ||
i

x e x∑ >    d. 2 2| ( , ) | || ||
i

x e x∑ ≤  

 
23. Let A1, A2 be self adjoint operators in a Hilbert space H. Then A1, A2 is self 

adjoint if and only if 
a. A1 = A2    b. A1 A2 = A2 A1   
c. A1 = A1 A2    d. A1 A2 = I 
H vd;w `py;gh;l; ntspapy;> A1, A2 vd;gd jd;dpr;irahd ,izg;G 

nraypfs; vdpy;> A1, A2 vd;gJ jd;dpr;irahd ,izg;G nraypahf 
,Ug;gjw;fhdj; Njitahd kw;Wk; NghJkhd epge;jid 
a. A1 = A2    b. A1 A2 = A2 A1   
c. A1 = A1 A2    d. A1 A2 = I 
 

24. If N is a Normal operator on a Hilbert H then 

a. 2|| || || ||N N=    b. 2|| || 1N =   

c. 2|| || 0N =     d. 2 2|| || || ||N N=  

`py;gh;l; ntsp Hy;> N vd;gJ nrq;Nfhl;L nrayp vdpy; 

a. 2|| || || ||N N=    b. 2|| || 1N =   

c. 2|| || 0N =     d. 2 2|| || || ||N N=  

 
25. An element z in a Banach algebra A is a topological divisor of zero if there 

exists a sequence {zn} in A such that 

a. || || 1
n

Z =  and either  0
n

zz →  or 0
n

z z →  

b. || || 0, 1
n n

z zz= →  

c. || || 1,
n n

z z z= →  

d. || || 0,
n n

z z z= →  



 

 

A vd;gJ gdhf; mwkk;; z A; xU gug;GUtpayhd G+[;a tFg;ghd; vd;why;> 

xU njhlh;G {zn} Ay; fPo;f;fz;l epge;jidiag; G+h;j;jp nra;tjhf mika 
Ntz;Lk; 

a. || || 1
n

Z =  my;yJ   0
n

zz →  my;yJ 0
n

z z →  

b. || || 0, 1
n n

z zz= →  

c. || || 1,
n n

z z z= →  

d. || || 0,
n n

z z z= →  

 
26. Let ( )xσ  denote the spectrum of x in a Banach algebra. Then 

a. ( ) ( )nx xσ σ=   b. ( ) 0nxσ =  

c. ( ) ( )n nx xσ σ=   d. ( ) 1xσ =  

xU gdhf; mwkj;jpy;> ( )xσ  vd;gJ xU epwkhiy x ia Fwpf;fpwJ vdpy;>  

a. ( ) ( )nx xσ σ=   b. ( ) 0nxσ =  

c. ( ) ( )n nx xσ σ=   d. ( ) 1xσ =  

 

27. Let 2( ) | |f z z a= − , where a is any complex number be defined on the 

complex plane. Then 
a. ( )f z  is differentiable at z = a, but not analytic at a 

b. ( )f z  is analytic only at a 

c. ( )f z  is not differentiable at z = a 

d. ( )f z  is analytic at all points in the complex plane 
2( ) | |f z z a= − , vd;gJ rpf;fyhd jsj;jpy; tiuaWf;fg;gl;l rpf;fnyz; khwpyp 

vdpy;  
a. z = ay; ( )f z  tifaply; rhh;G> Mdhy; z = a y; ( )f z   
tifKiwg;gLj;jg;glhj rhh;G 
b. z = ay; ( )f z    tif Kiwg;gLj;jg;gl;l rhh;G 

c. z = ay; ( )f z  tifaplg;glhj rhh;G 

d. nka;g;Gidj; jsj;jpy;> xt;nthU Gs;spapYk; ( )f z   tifKiwr; rhh;G 

 
28. Let R(z) be a rational function of order 6. Then R(Z) has 

a. 3 zeroes, 6 poles   b. 6 zeroes, 6 poles 
c. 6 zeroes, 3 poles   d. 12 zeroes, 12 poles 
R (z) vd;gJ thpir vz; 6 nfhz;l tpfpjKiwr;rhh;G; R (z) y; cs;s Ropfs; 
kw;Wk; JUtq;fspd; vz;zpf;if 

 a. 3 Ropfs;> 6 JUtq;fs;   b. 6 Ropfs;> 6 JUtq;fs;  
 c. 6 Ropfs;> 12 JUtq;fs;  d. 12 Ropfs;> 12 JUtq;fs; 
 

29. Cross ratio (z1, z2, z3, z4) is real if and only if the four points (z1, z2, z3, z4) 
and z4 
a. lie on a circle only  b. lie on a circle or straight line 
c. lie on straight line only  d. lie on a sphere 



 

 

(z1, z2, z3, z4) vd;w FWf;F tPjk; nka;naz;zhf ,Ug;gjw;fhd Njitahd 

kw;Wk; NghJkhd  epge;jid> (z1, z2, z3, z4)  vd;w Gs;spfSk; z4 

a. xNu tl;lj;jpy; mikAk;  
b. tl;lj;jpNyh my;yJ Neh;f;Nfhl;bNyh mikAk; 
c. Neh;f;Nfhl;by; kl;LNk mikAk; 
d. xNu Nfhsj;jpy; mikAk; 

 

30. Let C be a circle with centre at z = 1, 
1

c

dz

z −∫  is 

a. 2
iπ   b. 2π   c. iπ   d. 2 iπ    

c vd;gJ z = 1, I ikakhff; nfhz;l tl;lk;: 
1

c

dz

z −∫ d; kjpg;G 

  

a. 2
iπ   b. 2π   c. iπ   d. 2 iπ    

 

31. The characteristic polynomial of an annihilator for the function ,k axx e , 

where α  is any non-negative integer is 
a. r – a   b. (r - a)k  c. (r - a)k+1  d. (r - a) a k  

,k axx e , (,q;F α  vjph;Fwp kjpg;gw;w ,ay; vz;) vd;w rhh;gpd; nfhy;ypapd; 

rpwg;G ,ay;G gy;YWg;Gf; Nfhit 
a. r – a   b. (r - a)k  c. (r - a)k+1  d. (r - a) a k  

   
32. Bessel’s function of zero order of first kind J0 is given by 

a. 0 2
0

( 1)
( )

( !) 2

mm

m

x
J x

m

∞

=

−  
=  

 
∑  

b. 0 2
0

( 1)
( )

( !)

m
m

m

J x x
m

∞

=

−
=∑  

c. 2

0 2
0

( 1)
( )

( !)

m
m

m

J x x
m

∞

=

−
=∑  

d. 
2

0 2
0

( 1)
( )

( !) 2

mm

m

x
J x

m

∞

=

−  
=  

 
∑  

Ngry; rhh;gpd; G+[;[pa thpirAila Kjd;ik tif J0 MdJ> fPo;f;z;l 
Kiwapy; tiuaWf;fg;gl;lJ.  

a. 0 2
0

( 1)
( )

( !) 2

mm

m

x
J x

m

∞

=

−  
=  

 
∑  

b. 0 2
0

( 1)
( )

( !)

m
m

m

J x x
m

∞

=

−
=∑  

c. 2

0 2
0

( 1)
( )

( !)

m
m

m

J x x
m

∞

=

−
=∑  



 

 

d. 
2

0 2
0

( 1)
( )

( !) 2

mm

m

x
J x

m

∞

=

−  
=  

 
∑  

 

33. Let Pn(x) be the nth Legendre polynomial. Then 
1

2

1

( )
n

P x dx
−

=∫  

a. n2  b. 
2

2 1n +
  c. 

2 1

n

n +
  d. 2n 

Pn(x)  vd;gJ n-tJ nyn[z;lh; gy;YWg;Gf; Nfhit vdpy;> 
1

2

1

( )
n

P x dx
−

=∫  

a. n2   b. 
2

2 1n +
  c. 

2 1

n

n +
  d. 2n 

    
 

34. Let Hn denote the nth Hermite polynomial. Then the value of H1 is given by  

a. 1( ) 2H x x=     b. 1( ) 1H x =  

c. 1( ) 2H x =     d. 1( )H x x=  

Hn vd;gJ n-tJ n`h;ikl; gy;YWg;Gj; Nfhit H1 d; kjpg;G 

a. 1( ) 2H x x=     b. 1( ) 1H x =  

c. 1( ) 2H x =     d. 1( )H x x=  

 
35. Partial differential equation obtained by eliminating arbitrary function from 

2 2( )z f x y= +  is 

a. px qy=   b. py qx=   c. pq xy=   d. px y=  
2 2( )z f x y= +  vd;w rkd;ghl;by;> rhh;G ePf;fk; ngw;wgpd; fpilf;Fk; gFjp 

tiff;nfO rkd;ghL 
a. px qy=   b. py qx=   c. pq xy=   d. px y=  
 

36. Complete integral for the partial differential equation 2 2p y q=  is 

a. z ax by= +     b. 2 logz a x b y= −  

c. 2 logz a x a y b= ± +   d. 2 2z a x b y= +  
2 2p y q=  vd;w gFjp tiff;nfO rkd;ghl;bd; KOj;jPh;T 

a. z ax by= +     b. 2 logz a x b y= −  

c. 2 logz a x a y b= ± +   d. 2 2z a x b y= +  

 

37. Solution for 2( 5 6) xD D y e+ + =  is 

a. 2 3

12

x
x x e

y Ae Be
− −= + +   b. 2 3x xy Ae Be= +  

c. 2 3

12

x
x x e

y Ae Be
−

= + +   d. 2 3x x xy Ae Be e= + −  



 

 

2( 5 6) xD D y e+ + =  vd;w rkd;ghl;bd; jPh;T 

a. 2 3

12

x
x x e

y Ae Be
− −= + +   b. 2 3x xy Ae Be= +  

c. 2 3

12

x
x x e

y Ae Be
−

= + +   d. 2 3x x xy Ae Be e= + −  

 

38. Solution for 2 2( 1)D D y x+ + =  is 

a. 
3 3

cos sin 3
2 2

A x B x x
 

+ −  
 

 

b. /2 23
cos sin

2

x
e A x B x x

−
 

− −  
 

 

c. ( )/2 2cos sin 3x
e A x B x x x

− − − +  

d. /2 23 3
cos sin 3

2 2

x
e A x B x x x

−
 

+ + −  
 

 

2 2( 1)D D y x+ + =  d; jPh;T 

a. 
3 3

cos sin 3
2 2

A x B x x
 

+ −  
 

 

b. /2 23
cos sin

2

x
e A x B x x

−
 

− −  
 

 

c. ( )/2 2cos sin 3x
e A x B x x x

− − − +  

d. /2 23 3
cos sin 3

2 2

x
e A x B x x x

−
 

+ + −  
 

 

 

39. || 0y y+ =  has 

a. no solution 
b. only trivial solution 
c. exactly one independent solution 
d. more than one linearly independent solutions 

|| 0y y+ = vd;w rkd;ghl;bw;F>  

a. jPh;tpy;iy    
b. vspa jPh;T kl;Lk; cz;L 
c. xNu xU Nehpay; rhh;gw;w jPh;T cz;L 
d. xd;wpw;F Nkw;gl;l Nehpay; rhh;gw;w jPh;Tfs; cz;L 
 

40. The sum of squares of deviations of set of values is minimum when taken 
about the 
a. mean    b. median 
c. mode    d. origin 



 

 

xU fzj;jpYs;s kjpg;Gfspd; tpyf;f th;f;fq;fspd; $l;Lj; njhifahdJ> 
vijg; nghWj;J kPr;rpW kjpg;gpid milAk;? 
a. ruhrhp  b. ,ilepiy  c. KfL d. Mjp 
 

41. Let ( )f z  be an analytic function and satisfies | ( ) 1| 1f z − <  in a region Ω . 

Then for any closed curve γ in Ω  
a. 1  b. −∞     c. 0   d. ∞  

( )f z  xU tif Kiwr; rhh;G; Ω vd;w gug;gplj;jpy; | ( ) 1| 1f z − < ; γ vd;gJ y; 
cs;s milj;j tisNfhL vdpy;  
 

42. Let ( )f z  be an analytic and non-constant function in a region Ω  . Then 

| ( ) |f z  

a. attains its maximum at every point of Ω  
b. has no maximum in Ω  
c. attains its maximum at only one point in the region Ω  
d. has no maximum anywhere in the complex plane 
( )f z  vd;gJ khwpypaw;w tifKiwr; rhh;G Ω vd;w gug;gplj;jpy; | ( ) |f z  
 jd; kPg;ngU kjpg;gpid 
a. Ω d; xt;nthU Gs;spapYk; milAk; 

b. Ω y; milahJ 

c. Ω y; xNu xU Gs;spapy; kl;LNk milAk; 
d. KO nka;g;Gidj; jsj;jpYk; milahJ 
 

43. The functions , sinxe z  and cos z  have a common essential singularity at  

a. ∞    b. 0   c. 1   dπ  
fPo;f;fz;l xU Gs;sp kw;Wk; vd;w %d;W rhh;Gfspd; nghJthd rpwe;j 
xUik 
a. ∞    b. 0   c. 1   dπ  

44. For the function 
2

2

sin( )
( ) , 0,

( )

z
f x a

z z a
= ≠

−
 the singularities are at  

a. 0,z z a= =     b. 20,z z a= =  

c. 2,z a z a= =     d. 0,z z a= = −  
2

2

sin( )
( ) , 0,

( )

z
f x a

z z a
= ≠

−
 vd;w rhh;gpd; tOf;fy;fs; 

a. 0,z z a= =     b. 20,z z a= =  

c. 2,z a z a= =     d. 0,z z a= = −  

 

45. Let 
1

( )
sinh

f z
z

=  be meromorphic in the complex plane. The limit point of 

the pole of this function is 
a. π   b. 1   c. 0  d. ∞  



 

 

1
( )

sinh
f z

z
=  vd;w KOikg; gFKiwr; rhh;gpd;> JUtj;jpd; vy;iyg; Gs;sp 

a. π   b. 1   c. 0  d. ∞  
 

46. Let ( , )n aγ  be the winding number of γ  with respect to α . Then ( , )n aγ = 

a. ( , )n aγ−     b. ( , )n aγ− −  

c. ( , )n aγ−     d. 0 

α  vd;w Gs;spiar; Rw;wpAs;s tistiu γ  Rw;nwz; ( , )n aγ d; kjpg;G 

( , )n aγ = 

a. ( , )n aγ−     b. ( , )n aγ− −  

c. ( , )n aγ−     d. 0 

 
47. Let ( )f z  be analytical and bounded in the whole plane. Then ( )f z  must be  

a. a constant     b. zero 
c. non-trivial polynomial   d. non-constant rational function 

( )f z  vd;gJ KOj; jsj;jpYk; tiuaWf;fg;gl;l> tuk;Gs;s tifKiwr; rhh;G 

vdpy;> fl;lhakhf ( )f z  

a. xU khwpypahf mikAk;   
b. Rop 
c. vspikaw;w xU gy;YWg;Gf; NfhitahFk;   
d. khwpypaw;w tpfpjKW rhh;ghFk; 

 

48. Every solution of the equation || | 2 0y y y+ − =  has the form 

a. 2

1 2

x x
c e c e+      b. 2

1 2

x x
c e c e

− +  

c. 2

1 2

x x
c e c e

−+      d. 2

1 2

x x
c e c e

− −+  
|| | 2 0y y y+ − =  vd;w tiff;nfO rkd;ghl;bd; vy;yh jPh;TfSk; fPo;f;fz;l 

xU tbtj;jpy; mikAk; 

a. 2

1 2

x x
c e c e+      b. 2

1 2

x x
c e c e

− +  

c. 2

1 2

x x
c e c e

−+      d. 2

1 2

x x
c e c e

− −+  

 

49. The initial value problem || | 210 0, (0) , (0)y y y yπ π+ = = =  has the solution 

a. 
2

cos 10 sin 10
10

x x
π

π +  b. 2 cos 10 sin 10x xπ π+  

c. 
2

cos 10 sin 10
10

x x
π

π+   d. cos 10 sin 10x xπ π−  

vd;w njhlh;epiy kjpg;Gf; fzf;fpd; jPh;thdJ 

a. 
2

cos 10 sin 10
10

x x
π

π +  b. 2 cos 10 sin 10x xπ π+  



 

 

c. 
2

cos 10 sin 10
10

x x
π

π+   d. cos 10 sin 10x xπ π−  

 

50. Two solutions 1 2,φ φ  of ( ) 0L y =  are linearly independent if and only if for 

every 1 2, ( , )( )x I xω φ φ∈  is 

a. 1   b. 0   c. 0≠    d. ∞  

I vd;w ,ilntspapy; ( ) 0L y =  vd;w rkd;ghl;bw;F> 1 2,φ φ  vd;w ,U jPh;Tfs; 

Nehpay; rhh;gw;witahfj; Njitahd kw;Wk; NghJkhd epge;jid 

1 2, ( , )( )x I xω φ φ∈  d; kjpg;G  

a. 1   b. 0   c. 0≠    d. ∞  
 

51. Let |

r
µ  denote the thr  moment about any point α  and 

r
µ  denote the thr  

moment about the mean. Then 

a. 
2| |

2 2 1µ µ µ= +     b. 
2| |

2 2 12µ µ µ= −  

c. 
2| |

2 2 1µ µ µ= −     d. 
2|

2 1µ µ=  
|

r
µ  vd;gJ α  vd;w Gs;spiag; nghWj;j r-tJ tpyf;fg; ngUf;Fj; njhif; 

r
µ  vd;gJ ruhrhpiag; nghWj;j r-tJ tpyf;fg; ngUf;Fj; njhifnadpy; 

a. 
2| |

2 2 1µ µ µ= +     b. 
2| |

2 2 12µ µ µ= −  

c. 
2| |

2 2 1µ µ µ= −     d. 
2|

2 1µ µ=  

 
52. The Karl Pearson’s coefficient of skewness lies between 

a. -1 and 1     b. -3 and 3 
c. -2 and 2     d. 0 and 2 
fhh;y; gpah;rd; Nfhl;lf;nfO mikAk; ,ilntsp 
a. -1 kw;Wk; 1     b. -3 kw;Wk; 3 
c. -2 kw;Wk; 2    d. 0 kw;Wk; 2 

 
53. The chance that a leap year selected at random will contain 53 Sundays is 

a. 
4

7
   b. 

1

53
   c. 

1

7
   d. 

2

7
 

xU yPg; tUlk;> rktha;g;G Kiwapy; Njh;e;njLf;fg;gLk; nghOJ> 
Qhapw;Wf;fpoik miktjw;fhd tha;g;G 

a. 
4

7
   b. 

1

53
   c. 

1

7
   d. 

2

7
 

 
54. Let A and B be independent events. Then P(A/B)= 

a. P(A)  b. P(B)   c. 0  d. 1 
A,B vd;gd rhh;gw;w epfo;Tfs; vdpy; P(A/B)= 
a. P(A)  b. P(B)   c. 0  d. 1 

 



 

 

55. The expected value of number of points that will be obtained with a single 
throw in an ordinary die is 

a. 
5

2
    b. 

7

2
   c. 

2

7
   d. 1 

xU gfilia xUKiw cUl;Lk; nghOJ fpilf;Fk; Gs;spfspd; 
vjph;ghh;f;Fk; kjpg;G 

a. 
5

2
    b. 

7

2
   c. 

2

7
   d. 1 

 
56. The covariance of two independent variables is 

a. 0   b. 1   c
1

2
.   d. 

1

3
 

,uz;L rhh;gw;w tha;g;G khwpfspd; ,iz khWghl;bd; kjpg;G 

a. 0   b. 1   c
1

2
.   d. 

1

3
 

 
57. Let ( )f x  be a probability function. Then 

a. ( )f x o>  if and only if 0x >  

b. ( ) 0f x x≥ ∀ − ∞ < < ∞  

c. ( ) 0f x =  for 0 x< < ∞  

d. ( ) 0f x = for x−∞ < < ∞  

( )f x vd;gJ epfo;jfT rhh;G vdpy; 

a. ( )f x o>  ⇔ 0x >  

b. ( ) 0f x x≥ ∀ − ∞ < < ∞  

c. ( ) 0f x =  f;F 0 x< < ∞  

d. ( ) 0f x = f;F  x−∞ < < ∞  

 
58. If X and Y are independent variables, then 

a. X and Y are uncorrelated 
b. X and Y are positively correlated 
c. X and Y are negatively correlated 
d. Correlation coefficient cannot be defined. 

X, Y vd;gd rhh;gw;w tha;G;G khwpfs; vdpy; 

a. X-k;  Y –k; xl;Lwty;yhjit  
b. X-k;  Y-k; Neh;k xl;LwTs;sit 
c. X-k;  Y-k; vjph;k xl;LwTs;sit 
d. X, Y ,ilapy; xl;LwTf; nfO tiuaWf;f KbahJ 
 

59. The regression coefficients are 
a. dependent on change of origin and scale 
b. independent of change of origin and scale 
c. dependent on change of origin and scale 



 

 

d. independent of change of origin but not of scale 
gpd;dilTf; nfOf;fs; 
a. Mjp> msTNfhy;fspd; khWghl;il rhh;e;jJ 
b. Mjp> msTNfhy;fspd; khWghl;il rhh;e;jit my;y 
c. Mjpapd; khWghl;il rhh;e;Jk;> msTNfhspd; khWghl;il rhuhkYk; 
mikAk; 
d. Mjpapd; rhuhkYk;> msTNfhspd; khWghl;il rhh;e;Jk; mikAk; 

 

60. Consider the function 1 | |

0( , ) { ,0 1.if y x

otherwise
f x y x

<= < <  Then  

a. regression of y on x and x on y are linear 
b. regression of y on x and x on y are non-linear 
c. regression of y on x is linear, regression of x on y is non-linear 
d. regression of y on x is non-linear, but regression of x on y is linear. 

1 | |

0( , ) { ,0 1 .y x
f x y x

<= < <vdpy; 

gpw kjpg;GfSf;F vdpy;  

a. y khwpia x khwpapy; Fwpf;Fk; njhlh;G Nghf;Fk;> x khwpia y khwpapy; 
Fwpf;Fk; njhlh;G Nghf;Fk; Neh;f;Nfhl;Lj; jd;ik cilait 
b. y khwpia x khwpapy; Fwpf;Fk; njhlh;G Nghf;Fk;> x khwpia y khwpapy; 
Fwpf;Fk; njhlh;G Nghf;Fk; Neh;f;Nfhl;Lj; jd;ik cilait my;y 
c. y khwpia x khwpapy; Fwpf;Fk; njhlh;G Nghf;F Neh; Nfhl;Lj;jd;ik 
cilajhfTk;> x khwpia y khwpapy; Fwpf;Fk; njhlh;G Nghf;Fk; 
Neh;f;Nfhl;Lj; jd;ik ,y;yhkYk; ,Uf;Fk; 
d. y khwpia x khwpapy; Fwpf;Fk; njhlh;G Nghf;F Neh; Nfhl;Lj;jd;ik 
,y;yhkYk;> x khwpia y khwpapy; Fwpf;Fk; njhlh;G Nghf;Fk; Neh;f; 
Nfhl;Lj; jd;ik cilajhfTk; ,Uf;Fk;.  
 

61. Let F be a finite field with 7 elements and K be a finite extension of F such 
that [K : F] = n, Then K has 
a. 7n elements   b. 7 + n elements 
c. 7n elements   d. n7 elements 
F vd;gJ 7 cWg;Gfs; cila KbTW fsk;; K vd;gJ Fd; KbTs;s tphpT 

[K : F] = n vdpy;> Ky; cs;s cWg;Gfspd; vz;zpf;if 

a. 7n    b. 7 + n   c. 7n   d. n7  
 

62. F is the splitting field of 
m

p
x x−  if and only if F has 

a. p elements    b. m elements 
c. mp elements   d. pm elements 

Fvd;gJ 
m

p
x x− d; gpsf;Fk; ntspahtjw;Fj; Njitahd kw;Wk; NghJkhd 

epge;jid> Fy; cs;s cWg;Gfspd; vz;zpf;if 

a. p  b. m  c. mp  d. pm 
 

63. lim log x
x

x
→∞ =  

a. 1   b. −∞    c. 0   d. ∞  



 

 

lim log x
x

x
→∞ =  

a. 1   b. −∞    c. 0   d. ∞  
 
 

64. If f is Riemann integrable on [a, b], then 
a. | |f  is not Riemann integrable on [a, b] 

b. | |f  is Riemann integrable on [ , ]& | | | |

b b

a a

a b f f≤∫ ∫  

c. | |f  is Riemann integrable & | | | |

b b

a a

f f>∫ ∫  

d. | |f  is Riemann integrable & | | 0

b

a

f =∫  

f  vd;gJ [a, b],  hPkhd; njhifaply; vdpy; 
a. | |f  hPkhd; njhifaply; MfhJ [a, b] 

b. | |f  hPkhd; njhifaply; kw;Wk; [ , ]& | | | |

b b

a a

a b f f≤∫ ∫  

c. | |f  hPkhd; njhifaply; kw;Wk; | | | |

b b

a a

f f>∫ ∫  

d. | |f  hPkhd; njhifaply; kw;Wk; | | 0

b

a

f =∫   

 

65. Define 2( ) 1f x x= −  for 1 1x− < < . Then f is continuous 

a. only at 0 
b. at each point of (-1, 1) 
c. only at 1 and -1 
d. f is not continuous at any point of (-1, 1) 

2( ) 1f x x= − 1 1x− < <  vdpy; vd;w rhh;G vq;Nf njhlh;r;rpahdJ? 

a. 0 vd;w Gs;spapy; kl;Lk; 

b. (-1, 1)y; cs;s vy;yh Gs;spfspYk; 

c. 1> - 1 vd;w ,U Gs;spfspy; kl;Lk; 

e. d. (-1, 1)y; cs;s ve;j Gs;spapYk; njhlh;r;rpaw;wJ 
 

66. The set of rational numbers is dense in 
a. C, the set of complex numbers 
b. Z, the set of integers 
c. IR, the set of real numbers 
d. Q, the set of rational numbers 
tpfpjKW vz;fspd; fzk;> fPo;f;fz;l xU fzj;jpy; mlh;j;jpahdJ 
a. ℂ  rpf;fnyz;fspd; fzk; b. ℤKOntz;fspd; fzk; 



 

 

c. IR nka;naz;fspd; fzk; d. ℚtpfpjKW vz;fspd; fzk;  

 
67. Let f be a non-constant, real valued continuous function on IR. Then the 

range of f is 
a. countable    b. finite 
c. φ       d. not countable 

khwpypaw;w> nka; kjpg;Gila IRy; cs;s xU njhlh;r;rpahd rhh;G f d; tPr;R 
vy;iy  
a. vz;zplj;jf;fJ   b. KbTs;sJ 

c. φ      d. vz;zpl KbahjJ 

 

68. Let [ ] [ ]0,1 2,3A = ∪  be a subset of the real line. Then [0, 1] is 

a. open but not closed in A   b. closed but not open in A 
c. neither open nor closed in A  d. both open and closed in A 

[ ] [ ]0,1 2,3A = ∪   vd;gJ IR vd;w nka;Nfhl;bd; cl;fzk;. [0, 1] vd;gJ A-

apy;  
a. %lg;glhj> jpwe;j ,ilntsp   

b. %lg;gl;l> ,ilntsp> Mdhy; jpwe;jJ my;y 
c. jpwe;jJk; my;y> %ba ,ilntspAk; my;y 
d. %ba kw;Wk; jpwe;j ,ilntsp 
 

69. Let A be any finite subset of a metric space M. Then 
a. A is connected but no compact 
b. A is connected and compact 
c. A is compact 
d. A is neither connected nor compact 

M vd;w tug;G ntspapy; A vd;w KbTw;w cl;fzkhdJ 
a. ,izg;Gs;sJ> Mdhy; fr;rpjkhdjy;y 
b. ,izg;Gs;sJ kw;Wk fr;rpjkhdj 
c. fr;rpjkhdJ  
d. ,izg;gpy;yhjJ kw;Wk; fr;rpjky;yhjJ 

 

70. Define 
1

( ) ,0 1f x x
x

= < ≤  . Then 

a. f is continuous on [0, 1]  
b. f is continuous [0, 1] 
c. f is continuous on the real line 
d. f is not continuous at any point of [0, 1] 

1
( ) ,0 1f x x

x
= < ≤  vd;w rhh;G> ve;jnthU Gs;spfspy; njhlh;r;rpahdJ? 

a. [0, 1] 
b. [0, 1] 
c. nka;Nfhl;by; 



 

 

d. [0, 1]d; ve;j Gs;spapYk; njhlh;r;rpaw;wJ? 

 
71. M|G|I Queuing system involves 

a. multiple server, Poisson arrival, general service time distribution 
b. single server, Poisson arrival, general service time distribution  
c. no server 
d. single server, binomial arrival, general service time distribution 

M|G|I  vd;w thpirj; njhFg;gpd; gz;G 
a. gy Nritahsh;> gha;rhd; tUif> nghJ Nrit Neug; guty; 
b. xw;iwr; Nritahsh;> gha;rhd; tUif> nghJ Nrit> Neug; guty;  
c. Nritahsh;fNs ,y;iy 
d. xw;iwr; Nritahsh;> <UWg;G tUif> nghJ Nrit> Neug; guty; 
 

72. In an Economic Order Quantity Problem, with no shortages, the lead time is 
a. −∞    b. ∞    c. 1  d. zero 
gw;whf;Fiw ,y;yhj EOQ fzf;fpy;> yPl; ilk;kpd; kjpg;G 

a. −∞    b. ∞    c. 1  d.  Rop 
 

73. Let m1 and m2 be the maintenance cost in the (n+1)th year and nth year 
respectively. Let T1 and T2 be the average total cost in the nth year and 
previous year respectively. Then replace the equipment at the and of n years 
using optimal replacement policy if 

a. 1 1 2 2,m T m T< <     b. 1 1 2 2,m T m T> >  

c. 1 1 2 2,m T m T> <     d. 1 1 2 2,m T m T= =  

m1, m2 vd;gd (n+1) kw;Wk; n-tJ tUlq;fSf;fhd guhkhpg;G nryitf; 

Fwpg;gJ T1 T2  vd;gd kw;Wk; mjw;F Ke;ija tUlj;jpd; ruhrhp nkhj;j 
nrytpidf; Fwpg;gJ vdpy;> kpfTk; cfe;j gjpypf; nfhs;ifapd;gb> 
cgfuzq;fis> nk; Mz;bd;Kbtpy; khw;Wtjw;fhd epge;jid 

 a. 1 1 2 2,m T m T< <     b. 1 1 2 2,m T m T> >  

c. 1 1 2 2,m T m T> <     d. 1 1 2 2,m T m T= =  

 

74. In a network, an activity is critical if any delay in its start 
a. will not affect successive activities 
b. will lead to termination of the project 
c. will cause further delay in completion of the project 
d. is not permitted 
xU gpizaj;jpy;> xU nraiy khWepiy my;yJ jPh;khd nray; vd;W 
$wpdhy;> mr;nraypidj; njhlq;Ftjw;F Vw;gLk; jhkjk; 
a. mLj;jLj;j nray;fisg; ghjpf;fhJ 
b. KOj; jpl;lj;ijAk; KbTf;Ff; nfhz;L te;J tpLk; 
c. jpl;lk; epiwNtWtjw;fhd fhyk; jhkjg;gLk; 
d. mDkjpf;fg;gl khl;lhJ 
 



 

 

75. In PERT, let t0 be the optimistic time, tp the pessimistic time, tm the most 
likely time. Then the mean or average te is given by 

a. 04
m p

t t t+ +     b. 0

1

6
p

t t +   

c. 0

1
4

3
m p

t t t + +     d. 0

1
4

6
m p

t t t + +   

PERT y; t0 - rhjf Neuk;> tp- ghjf Neuk; tm-kpf cfe;j Neuj;ijAk; 

Fwpf;fpd;wJ vdpy;> ruhrhp te d; kjpg;G 

a. 04
m p

t t t+ +     b. 0

1

6
p

t t +   

c. 0

1
4

3
m p

t t t + +     d. 0

1
4

6
m p

t t t + +   

 
76. Let N be a normed linear space. For every x,y∈N 

a. | || || || || | || ||x y x y− ≤ −  

b. | || || || || | || ||x y x y− > −  

c. || || | || || || || |x y x y− = −  

d. || || || || 0x y− =  

N vd;gJ xU newpkKila Nehpay; ntsp; Ny; cs;s nghJthd 
cWg;Gfs; x,y vdpy;  
a. | || || || || | || ||x y x y− ≤ −  

b. | || || || || | || ||x y x y− > −  

c. || || | || || || || |x y x y− = −  

d. || || || || 0x y− =  

 
77. Let N, N| be two normed linear spaces. Let T be a linear transformation    

from N into N|. Then T is continuous if and only if 

a. ( )0 1
nn x

x T n→ ⇒ → ∀  

b. T is continuous at the origin i.e. ( )0 0
nn x

x T→ ⇒ →  

c. T is continuous at 1 
d. T is the identity transformation.  
N, N| vd;gd newpkKila Nehpay; ntspfs; T vd;gJ Ny; ,Ue;J N

1f;Fr; 
nry;Yk; xUgb cUkhw;W; T njhlh;r;rpahf ,Uf;fj; Njitahd kw;Wk; 
NghJkhd epge;jid 

a. ( )0 1
nn x

x T n→ ⇒ → ∀  

b. Mjpapy; T njhlh;r;rpahdjhf ,Uf;Fk;  i.e. ( )0 0
nn x

x T→ ⇒ →  

c.  1 vd;w Gs;spapy; T njhlh;r;rpahdJ 

d. T vd;gJ xU Kw;nwhUik cUkhw;wk;  
    

78. A normed linear space N is reflexive if 
a. N =N*    b. N = -N* 



 

 

c. –N* = N**    d. N = N** 
xU newpkKila Nehpay; ntspapy;> N vd;gJ xU gpujpgypf;Fk; cwthf 
,Uf;fj; Njitahd epge;jid 
a. N =N*    b. N = -N* 
c. –N* = N**    d. N = N** 
 

79. Let B, B| be Banach spaces and T be a linear transformation from B to B|. 
Then T is continuous if and only if 
a. Graph of T is open   b. Graph of T φ=  

c. Graph of |T B=     d.  Graph of T is closed 
B, B| vd;gd ghdhf; ntspfs; T vd;gJ By; ,Ue;J B|f;Fr; nry;Yk; xUgb 

cUkhw;W> T njhlh;r;rpahdjhf ,Uf;fj; Njitahd kw;Wk; NghJkhd 
epge;jid 
a. T-d; Nfhl;LU jpwe;jjhf ,Uf;Fk; 
b. T-d; Nfhl;LU = φ  

c. T-d; Nfhl;LU =B
|
  

d. T-d; Nfhl;LU %bajhf ,Uf;Fk; 
 

80. Let H be a Hilbert space and ,x y H∈ . By the parallelogram law 

a. { }2 2 2 2|| || || || 2 || || || ||x y x y x y+ − − = +  

b. { }2 2 2 2|| || || || 2 || || || ||x y x y x y+ + − = −  

c. { }2 2 2 2| || || || 2 || || || ||x y x y x y+ + − = +  

d. 2 2 2 2|| || || || || || || ||x y x y x y+ + − = +  

H vd;w `py;gh;l; ntspapy;> ,x y H∈  vdpy; ,izfu tpjpapd; $w;W 

a. { }2 2 2 2|| || || || 2 || || || ||x y x y x y+ − − = +  

b. { }2 2 2 2|| || || || 2 || || || ||x y x y x y+ + − = −  

c. { }2 2 2 2| || || || 2 || || || ||x y x y x y+ + − = +  

d. 2 2 2 2|| || || || || || || ||x y x y x y+ + − = +  

 
81. The average number of customers who appear at a certain bank per minute 

is two. Then the probability that, during a given minute, no customer 
appears P(0) is 
a. e  b. e-1  c. e-2  d. e2 
xU Fwpg;gpl;l tq;fpapy; 1 epkplj;jpw;F 2 thbf;ifahsh;fs; ruhrhpahf 
tUif Ghpfpwhh;fs;. nfhLf;fg;gl;l epkplj;jpy;> ve;j thbf;ifahsUk; tUif 
juhj epiyapyhd epfo;jfT P (0)  

a. e  b. e-1  c. e-2  d. e2 
 

82. In a normal distribution the ration 
Quartile deviation : Mean deviation : Standard deviation is 

 a. 10 : 10 : 15    b. 10 : 12 : 15 



 

 

c. 12 : 12 : 15    d. 10 : 15 : 12 
,ay;epiy gutypy;> fhy;khd tpsf;fk;: ruhrhp tpyf;fk; : jpl;ltpyf;fk; 
tpfpjk;  
a. 10 : 10 : 15    b. 10 : 12 : 15 
c. 12 : 12 : 15    d. 10 : 15 : 12 
 

83. Let σ  be the standard deviation of a population and n the sample size. The 
standard error of sample mean is 

a. 
n

σ
   b. 

2

n

σ
   c. 

n

σ
   d. 

2

n

σ
 

 
kf;fs; njhifapd; jpl;ltpyf;fk; σ  vdTk;> khjphpapd; msT n vdTk; 
,Ug;gpd; khjphp ruhrhpapd; jpl;lg;gpioahdJ 

a. 
n

σ
   b. 

2

n

σ
   c. 

n

σ
   d. 

2

n

σ
 

 
84. A sample is said to be a small sample it its sample size n is 

a. < 100  b. < 10   c. = 30   d. < 30 
xU $W> rpW $whf mika Ntz;Lnkdpy;> $wpd; msT n fPo;f;fz;l xU 
epge;jidahf ,Uj;jy; Ntz;Lk; 
a. < 100  b. < 10   c. = 30   d. < 30 
 

85. For applying Chi-squares test, the expected frequency of any item should be 
a. 5≥     b. = 5   c. = 0   d. <5 
if-th;f;f Nrhjidiag; gad;gLj;j> ve;jnthU cUg;gbapd;  vjph;ghh;f;Fk; 
miyntz;> fPo;f;fz;l xd;wpy; ,Uj;jy; Ntz;Lk;? 
a. 5≥     b. = 5   c. = 0   d. <5 
 

86. F-statistic is given by 

a. 
var

variance within samples

iancebetween samples
 

b. 
var

variancebetween samples

iance within samples
 

c. variance within samples 
d. variance between samples 
F-d; $W gz;gsit MdJ 

.a
$WfSf; Fs; gutw; gb

$WfSf; F ,ilNa gutw; gb
   .b

$WfSf; fpilNaahd gutw; gb

$WfSf; Fs; gutw; gb
 

c. $WfSf;Fs; gutw;gb 
d. $WfSf;F ,ilNa gutw;gb 
 

87. Pascal’s distribution ( ) ( ) , 0,1,2......k k x

x
P x C p q x

−= − =  becomes a negative 

binomial distribution if 



 

 

a. 0,K K≥ need not be an integer  b. K < 0 

c. K = 0     d. K is an integer 

gh];fy; guty; ( ) ( ) , 0,1,2......k k x

x
P x C p q x

−= − =  vjphpk <UWg;G gutyhf 

khWtjw;fhd epge;jid 
a. KOntz;zhf ,Uf;f Ntz;ba mtrpakpy;iy 

b. K < 0  c. K = 0  d. KxU KOntz; 
 

88. Variance of the multinomial distribution is 

a. (1 )
i i

np p−     b. 
i

np  

c. (1 )
i i

p p−     d. (1 )
i

n p−  

gy;YWg;Gg; gutypd; gutw;gbahdJ 

a. (1 )
i i

np p−     b. 
i

np  

c. (1 )
i i

p p−     d. (1 )
i

n p−  

 

89. If X is a non-negative stochastic variable with mean x , then 2( )P X xt< is 

a. = 0     b. 
2

1
1

t
< −  

c. 
2

1
1

t
≥ −     d. 

2

1
1

t
= −  

X xU vjpuy;yhj tha;g;gpaw; khwp> ruhrhp x ,  vdpy; 2( )P X xt<  d; kjpg;G 

a. = 0     b. 
2

1
1

t
< −  

c. 
2

1
1

t
≥ −     d. 

2

1
1

t
= −  

 
90. The expected value of the sample mean in random sampling is the 

population mean 
a. if sample size = 10  b. if sample size > 10 
c. irrespective of sample size d. if sample size < 10 
rktha;g;G Kiwapy; vLf;fg;gl;l khjphpapy;> $wpd; ruhrhpapd; vjph;ghh;f;Fk; 
kjpg;G> kf;fs; njhifapd; ruhrhpf;F rkkhf ,Ug;gjw;fhd epge;jid 
a. $wpd; msT = 0    b. $wpd; msT > 10 

c. $wpd; msitg; nghWj;jJ my;y d. $wpd; msT < 10. 

 
91. Let S3 be the symmetric group on 3 symbols. Then O(S3) is 

a. 6  b. 3  c. 1  d. 9 
S3 vd;gJ 3 FwpaPLfis cila rkr;rPuhd Fyk; vdpy;> ,f; Fyj;jpd;  

O(S3)  thpir 
a. 6  b. 3  c. 1  d. 9 
 

92. Let G be a group of order 112. 132. Then the number of 11 –Sylow subgroups 
in G is 



 

 

a. 11  b. 1  c. 13  d. 121 
G vd;w Fyj;jpd; thpir 112. 132  vdpy;> Gy; cs;s 11-irNyh 
cl;fyq;fspd; vz;zpf;if 
a. 11  b. 1  c. 13  d. 121 
 

93. Let Jn be the ring of integers mod p. Then Jn is a field only when n is  
a. any integer   b. 0 
c. 1     d. a prime number 
Jn vd;gJ kl;L p cila KO vz;fspd; tisak;. nd; ve;j kjpg;gpw;F 
kl;Lk; Jn xU fskhf khWk;? 
a. ve;jnthU KO vz;zpw;Fk; b. 0 

c. 1     d. gfh vz; 

 
94. Let R be an Euclidean ring. Let d (a) be the non-negative integer associated 

with 0a ≠  in R. Then a is a unit in R if and only if 
a. d (a) = 0    b. d (a) = d (1) 
c. d (a) > 0    d. ( )d a = ∞  

R vd;w A+f;yPbad; tisaj;jpy;> xt;nthU 0a ≠  tpw;Fk; d (a)  vd;gJ 
vjph;k kjpg;gw;w KOvz;. a vd;w cWg;G Ry; myfhf khWtjw;F 
Njitahd kw;Wk; NghJkhd epge;jid 
a. d (a) = 0    b. d (a) = d (1) 
c. d (a) > 0    d. ( )d a = ∞  

 
95. Let F[x] be the ring of polynomials in x. Then the ideal A=(p(x)) in F[x] is 

maximal if and only if 
a.p (x) is irreducible over F   b. p (x) is reducible over F 
c. p (x)=0     d. A = F [x]  
F[x] vd;gJ xI khwpahff; nfhz;l gy;YWg;G mLf;Ff; Nfhitfspd; 

tisak;. A=(p(x)) vd;gJ F[x] y; cs;s xU rPh;tisak;. A xU kPg;ngU 
rPh;tisakhf ,Ug;gjw;fhd Njitahd kw;Wk; NghJkhd epge;jid 
a. p (x) vd;gJ F ,d; kPJ RUf;F Kbahj gy;YWg;Gf; Nfhit 

b. p (x) vd;gJ F ,d; kPJ RUf;ff; $ba gy;YWg;Gf; Nfhit 

c. p (x)=0     d. A = F [x]  
  

96. If A and B are finite dimensional subspaces of a vector space V and 
A B φ∩ ≠ , then dim (A + B) is 

a. dim (A) + dim (B) 
b. dim (A). dim (B) 
c. dim (A) + dim (B) – dim ( )A B∩  

d. dim (A) + dim (B) + dim ( )A B∩  

A, B vd;gd Y vd;w jpirad; ntspapy;> KbTs;s ghpkhzKila 

cs;ntspfs;; A B φ∩ ≠  vdpy; (A + B) d; ghpkhzk; 

a. dim (A) + dim (B) 
b. dim (A). dim (B) 



 

 

c. dim (A) + dim (B) – dim ( )A B∩  

d. dim (A) + dim (B) + dim ( )A B∩  
 

97. Let V be the set of real functions ( )y f x=  satisfying 
2

2
9 0

d y
y

dx
+ = . Then the 

dimension of the real vector space V is 
a. 1  b. 9  c. 4  d. 2 
rhh;Gfspd; fzk; V vdpy;> nka;ahd ntf;lhh; ntspapy; Vd; ghpkhzk; 

a. 1  b. 9  c. 4  d. 2 
 

98. Let Q be the field of rational numbers. Then the degree of the algebraic 

element 32 5+  over Q is 

a. 2  b. 6  c. 3  d. 5 

Q vd;gJ tpfpjKW vz;fspd; fyk;> Q-,d; Nky; 32 5+  vd;w mwk 
cWg;gpd;gb 
a. 2  b. 6  c. 3  d. 5 
 

99. Let C be the field of complex numbers and IR, the field of real numbers. 
Then the fixed field of G(C, IR) is 
a. IR  b. C  c. {e}  d. φ  

ℂ vd;gJ nka;g;Gidf; fsk;; IR vd;gJ nka;naz;fspd; fsk; G(ℂ , IR) d; 
epiyahd fsk; 
 a. IR  b. C  c. {e}  d. φ  
 

100. Let F be any field 2( ) , ,p x x x Fα β α β= + + ∈ . The degree of splitting 

field of p(x) over F is 
a. 4  b. 0  c. 1  d. 2 

F vd;gJ xU fsk;; 2( ) , ,p x x x Fα β α β= + + ∈  vdpy; F-y; p(x) d; gpsf;Fk; 
ntspapd; gb  
a. 4  b. 0  c. 1  d. 2 
 

101. 2sin nxdx

π

π−

∫  for n = 1, 2, … is 

a. 
2

π
   b. 2π   c. π   d. 0 

n = 1, 2, …  f;F 2sin nxdx

π

π−

∫  kjpg;G 

a. 
2

π
   b. 2π   c. π   d. 0 

 



 

 

102. For 2[ , ]f L π π∈ − , if the Fourier coefficients , 0,1,...
k

a k =  and 

, 1,2,.....
k

b k =  are all zero, then 

a. f = 0  b. 0f ≠   c. f > 0  d. f < 0 
2[ , ]f L π π∈ −  vd;w rhh;gpd; g;G+hpah; nfOf;fs; , 0,1,...

k
a k =  kw;Wk; 

, 1,2,.....
k

b k =  midj;Jk; 0 vdpy; 

a. f = 0  b. 0f ≠   c. f > 0  d. f < 0 

 

103. If f and g in 2[ , ]L π π−  having same Fourier coefficients, then 

a. 0g =     b. 0f =  

c. f g≠     d. f g=  almost everywhere 

,f g ∈ 2[ , ]L π π− vd;w rhh;Gfspd; g;G+hpah; nfOf;fs; midj;Jk; rkkhdit 

vdpy; 
a. 0g =  b. 0f =   c. f g≠  d. f g=  

 
104. On the general surface, a necessary and sufficient condition for the 

curve V = C to be a geodesic is that 
a. EE2 + FE1 + 2EF1 = 0   b. EE2 + FE1 – 2EF1 = 0 
c. EE2 – FE1 + 2EF1 = 0   d. EE2 – FE1 – 2EF1 = 0 
nghJ Nkw;jsj;jpy; xU tistiu V = C vd;gJ FWf;fb Mf Njitahd 
kw;Wk; NghJkhd epge;jid 
a. EE2 + FE1 + 2EF1 = 0   b. EE2 + FE1 – 2EF1 = 0 
c. EE2 – FE1 + 2EF1 = 0   d. EE2 – FE1 – 2EF1 = 0 
 

105. At every point of a geodesic, its principal normal is 
a. normal to the surface 
b. tangential to the surface 
c. normal to the complement of the surface 
d. undefined 
FWf;fbapd; xt;nthU Gs;spapYk;> Kjd;ikr; nrq;Fj;jhdJ 
a. Nkw;jsj;jpw;fhd nrq;NfhlhFk; 
b. Nkw;fsj;jpw;fhd njhLNfhlhFk; 
c. Nkw;jsj;jpd; epug;gpapd; nrq;NfhlhFk;. 
d. tiuaWf;ff; $bait. 

 

106. The Christoffel symbols of first kind 
ijk

Γ  are given by 

a. .i kjr r
�� ���

     b. .i jkr r
�� ���

 

c. .j kir r
�� ���

    d. .k jir r
�� ���

 

Kjy;tif fpwp];Nlhgy; 
ijk

Γ  ,d; ,U FwpaPLfs; 

. .i kjr r
�� ���

     b. .i jkr r
�� ���

 

c. .j kir r
�� ���

    d. .k jir r
�� ���

 



 

 

 
107. The geodesic curvature of the parametric curve V = C is given by Kg= 

a. 1 2 1

1
( )

2
HE EF EE FE− −  

b. 1 1

1 2 1( )H E EF EE FE
− − − −  

c. 1 1

1 2 1

1
(2 )

2
H E EF EE FE

− − − −  

d. 1 2 1EF EE FE− −  

V = C vd;w msGU tistiuapd; FWf;fb tisT Kg= 

a. 1 2 1

1
( )

2
HE EF EE FE− −  

b. 1 1

1 2 1( )H E EF EE FE
− − − −  

c. 1 1

1 2 1

1
(2 )

2
H E EF EE FE

− − − −  

d. 1 2 1EF EE FE− −  

 
108. The second fundamental coefficients L, M, N are given by  

a. 1 1 1 2 2 2. , . , .L N r M N r N N r= = = −
��� �� ��� �� ��� ��

  

b. 1 1 1 2 2 2. , . , .L N r M N r N N r= − = =
��� �� ��� �� ��� ��

 

c. 1 1 1 2 2 2. , . , .L N r M N r N N r= = − =
��� �� ��� �� ��� ��

 

d. 1 1 1 2 2 2. , . , .L N r M N r N N r= − = − = −
��� �� ��� �� ��� ��

 

L,M,N Mfpa ,uz;lhk; mbg;gilf; nfOf;fsp;d; kjpg;G 

 a. 1 1 1 2 2 2. , . , .L N r M N r N N r= = = −
��� �� ��� �� ��� ��

  

b. 1 1 1 2 2 2. , . , .L N r M N r N N r= − = =
��� �� ��� �� ��� ��

 

c. 1 1 1 2 2 2. , . , .L N r M N r N N r= = − =
��� �� ��� �� ��� ��

 

d. 1 1 1 2 2 2. , . , .L N r M N r N N r= − = − = −
��� �� ��� �� ��� ��

 

 
109. Let E, F, G and L, M, N be the first and second fundamental 

coefficients. At an umbilic point, 

a. , ,L E M F N G≠ ≠ ≠   b. 
L M N

G F E
= =  

c. 
L M N

E F G
= =    d. L M N= =  

E,F, G kw;Wk; F, M, N vd;gd tifNa Kjyhk; kw;Wk; ,uz;lhk; mbg;gil 
nfOf;fs;> xU ce;jpg; Gs;spapy; 

a. , ,L E M F N G≠ ≠ ≠   b. 
L M N

G F E
= =  

c. 
L M N

E F G
= =    d. L M N= =  



 

 

 
110. Equation of asymptotic lines is given by 

a. 2 22 0Ldu M dudv Ndv+ + =   b. 2 2 0Ldu N dv− =  

c. 0M dudv =      d. 2 22 0Ldu M dudv Ndv− − + =  
mZfy; Nfhl;bd; rkd;ghlhdJ 

a. 2 22 0Ldu M dudv Ndv+ + =   b. 2 2 0Ldu N dv− =  

c. 0M dudv =      d. 2 22 0Ldu M dudv Ndv− − + =  



 

 

 
111. Which media is suitable for distance education? 

a. Postal     b. Radio 
c. Television    d. Newspaper 
njhiyJ}uf; fy;tpf;fhd nghUj;jkhd Clfk; vJ? 
a. mQ;ry;  b. thndhyp  c. njhiyf;fl;rp d. gj;jphpf;if 
 

112. The book ”Education of Man” is written by 
a. John Dewey   b. Montessori 
c. Froebel    d. Gandhi 
“Education of Man” vd;w E}iy vOjpath; 
a. [hd;̂ ap  b. khz;bNrhhp c. GNuhgy; d. fhe;jp 

 
113. Open university was started in England on 

a. 1979  b. 1969  c. 1981   d. 1982 
jpwe;j epiyg;gy;fiyf;fofk; ,q;fpyhe;jpy; Muk;gpj;j Mz;L vJ? 
a. 1979  b. 1969  c. 1981   d. 1982 
 

114. Mobile school was first recommended by 
a. McDonald    b. Ivan 
c. Neil     d. Parker 
elkhLk; gs;spia Kjypy; ghpe;Jiu nra;jth; 
a. nkf;nlhdhy;L   b. ,thd; 
c. ePy;     d. ghh;f;fh;  

 
115. Who said ‘Education is related to life’ ? 

a. Gandhi    b. Nehru 
c. Tagore    d. Russel 
‘fy;tp vd;gJ thof;ifNahL njhlh;Gilajhf ,Uf;f Ntz;Lk;’ vd;wth; 
ahh;? 
a. fhe;jp  b. NeU c. jh$h;  d. u];]y; 
 

116. How many chromosomes are there in human body? 
a. 26  b. 36  c. 46  d. 39 
kdpj clypy; vj;jid FNuhNkhNrhk;fs; cs;sd? 
a. 26  b. 36  c. 46  d. 39 
 

117. When learnt material is reproduced without any manipulation, it is 
called 
a. whole memory   b. rote memory 
c. perfect memory   d. immediate memory 
fw;wtw;iw vj;jifa khw;wkpd;wp kPz;Lk; mg;gbNa ntspg;gLj;JtJ ______ 
vd miof;fg;gLk;. 
a. KO epidT    b. FUl;L kdg;ghlk; 
c. rhpahd epidT    d. cldb epidT 



 

 

 
118. Non-verbal test of intelligence is suitable for 

a. deaf & dumb   b. illiterates 
c. younger children   d. all of them 
Ez;zwptpd; nrhw;rhuh Nrhjid ahUf;F Vw;wJ? 
a. fhJNfhshNjhh; kw;Wk; tha; Ngrhjth;fs; 
b. gbg;gwptpy;yhjth;fs;  
c. rpW Foe;ijfs; 
d. ,th;fs; midtUf;Fk; 
 

119. The book “Theory of Motivation” is written by 
a. Madson    b. Maslow 
c. Murray    d. Hull 
“Theory of Motivation” vd;w E}iy vOjpath; 

a. Nkl;rd;    b. kh];Nyh 
c. Kh;Nu    d. `y; 

 
120. Wechsler developed an intelligence test for children in the year 

a. 1939  b. 1949  c. 1955  d. 1956 
nt];yh; Foe;ijfSf;fhd Ez;zwpT Nrhjid elj;jpa Mz;L 
a. 1939  b. 1949  c. 1955  d. 1956 
 

121. Pace setting school is renamed as 
a. Primary school   b. Pre-primary school 
c. Nursery school   d. Navodaya school 
Kd;Ndhbg; gs;spapd; kWngah; 
a. njhlf;fg;gs;sp    b. Kd; njhlf;fg;gs;sp 
c. eh;rhp gs;sp   d. eNthjah gs;sp 

 
122. How many open schools are there in Tamil Nadu? 

a. 25  b. 26  c. 27  d. 28 
jkpo;ehl;by; vj;jid jpwe;jepiyg; gs;spfs; cs;sd? 
a. 25  b. 26  c. 27  d. 28 
 

123. Functional Literacy Programme had been started for 
a. workers    b. farmers 
c. tribal people    d. all of them 
nraywpTf;fy;tp jpl;lk; njhlq;fpaJ ahUf;fhf? 
a. njhopyhsh;fs;    b. coth;fs; 
c. kiotho; kf;fs;   d. ,th;fs; midtUf;Fk; 

 
124. National Policy on Education was adopted in the year 

a. 1981  b. 1983  c. 1986  d. 1989 
Njrpaf; fy;tpf; nfhs;if filgpbf;fg;gl;l Mz;L 
a. 1981  b. 1983  c. 1986  d. 1989 



 

 

 
125. In which level, Mahila Mandals are organized for adult education? 

a. Block level    b. Village level 
c. District level   d. State level 
KjpNahh; fy;tpf;fhf kfpsh kz;ly; ve;j epiyf;fhf mikf;fg;gl;lJ? 
a. tl;lhu epiy   b. fpuhkg;Gw epiy 
c. khtl;l epiy   d. khepy epiy 

 
126. Rousseau’s Education Philosophy is 

a. Negative education   b. Basic education 
c. Vocational education   d. Secondary education 
&N]htpd; fy;tpj; jj;Jtk; vd;gJ 
a. vjph;kiwf; fy;tp   b. mbg;gilf; fy;tp 
c. njhopw;fy;tp   d. ,ilepiyf; fy;tp 

 
127. Self-education is related to 

a. Russel    b. Aurobindo 
c. Tagore    d. Rousseau 
Ra fy;tp KiwAld; njhlh;Gilath; 
a. u];]y;   b. mutpe;jh;  c. jh$h;  d. &N]h 

 
128. Mahila Samakhya is a plan for the development of 

a. Backward people   b. SC/ST people 
c. Women    d. Rural students 
kfpsh rkf;ah vd;w jpl;lk; ahUila Kd;Ndw;wj;jpw;fhf mikf;fg;gl;lJ? 
a. eyptile;j kf;fs;  b. SC / ST gphptpdh; 
c. ngz;fs;    d. fpuhkg;Gw kf;fs; 
 

129. Viswabharati is located at 
a. West Bengal   b. Maharashtra 
c. Bihar    d. Delhi 
tp];tghujp mike;Js;s ,lk; 
a. Nkw;F – tq;fhs k;  b. kfhuh~;buh 
c. gPfhh;    d. jpy;yp 

 
130. Who is related to freedom in learning situation ? 

a. Krishnamoorthy   b. Aurobindo 
c. Radhakrishnan   d. Tagore 
fw;wy; epiyapy; Rje;jpuk; vd;gJld; njhlh;Gilath; ahh;? 
a. fpU~;z%h;j;jp   b. mutpe;jh; 
c. uhjhfpU~;zd;   d. jh$h; 

 
131. Span of vision is measured by 

a. Memory drum   b. Tachistoscope 
c. Mason’s disk   d. Metronome 



 

 

ghh;it ftdtPr;ir mstpLk; fUtp 
a. nknkhhp luk;   b. lhrp];Nlh];Nfhg; 
c. Nkrd; bf;    d. kPl;NuhNdhk; 

 
132. Which theory of intelligence was supported by Alfred Binet ? 

a. Single factor   b. Two factor 
c. Group factor   d. Multifactor 
ve;j Ez;zwpT Nfhl;ghL My;gpul; gpNdthy; Mjhpf;fg;gl;l? 

 a. xw;iw fhuzp   b. ,ul;il fhuzp 
 c. FOf;fhuzp    d. gy;fhuzp 

 
133. Psychoanalytic approach of personality was first introduced by 

a. Adler    b. Jung 
c. Freud    d. none of them 
MSik gw;wpa csg;gFg;gha;tpid Kjypy; njhlq;fpath; 
a. ml;yh;    b. ~q; 
c. gpuha;l;    d. ,th;fSs; vtUkpy;iy 

 
134. In Gagne’s hierarchy learning has been divided into  

a. 8 types    b. 9 types 
c. 7 types    d. 10 types 
fhf;Ndtpd; gbepiyf; fw;wy; vj;jid gphpTfshf gphpf;fg;gl;Ls;sJ? 
a. 8  b. 9  c. 7   d. 10 
 

135. A superior child is advanced to a normal child by at least 
a. 1 year    b. 1 ½ years 
c. 2 years    d. 2 ½ years 
xU rpwe;j Foe;ij rhjhuz Foe;ijia tpl vj;jid Mz;Lfs; 
Kd;Ndhf;fp ,Uf;Fk;? 
a. 1 tUlk;    b. 1½ tUlq;fs;  

c. 2½ tUlq;fs;    d. 2½ tUlq;fs;.  

 
136. The UNESCO had supported of 

a. Women education   b. adult education 
c. education for all    d. none of these 
A+nd];Nfh Mjhpj;j fy;tp vJ? 
a. ngz; fy;tp   b. KjpNahh; fy;tp 
c. midtUf;Fk; fy;tp  d. ,tw;Ws; vJTkpy;iy 

 
137. Which district has the lowest density of population in Tamil Nadu? 

a. Nilgiris      b. Perambalur 
c. Sivagangai     d. Dharmapuri 
jkpo;ehl;by; ve;j khtl;lj;jpy; kf;fs;njhif mlh;j;jp Fiwthf cs;sJ? 
a. ePyfphp  b. nguk;gY}h;  c. rptfq;if  d. jh;kGhp. 

 



 

 

138. Which country started experiments in Distance Education in the year 
1873? 
a. UK   b. USA  c. USSR  d. Japan 
1873k; Mz;L ve;j ehL njhiyJ}uf; fy;tpapy; Nrhjidfis nra;jJ? 
a. UK   b. USA  c. USSR  d. [g;ghd; 
 

139. Child Labour Eradication Day is held on 
a. June 12   b. July 12 
c. August 12   d. November 12 
Foe;ij njhopyhsp xopg;G ehs; 
a. [_d; 12   b. [_iy 12 
c. Mf];L 12   d. etk;gh; 12 

 
140. Which is called formal agency of Education? 

a. School   b. Home 
c. Society   d. None of these 
Kiwahd fy;tp Kfik vd;wiof;fg;gLtJ vJ? 
a. gs;sp    b. tPL 
c. r%fk;    d. ,tw;Ws; vJTkpy;iy 
 

141. The Constitution of India came into force on 
a. 26th November, 1949   b. 26th January, 1950 
c. 26th January, 1949    d. 15th August, 1949 
,e;jpa murpayikg;Gr; rl;lk; eilKiwf;F te;j ehs; 
a. 26 etk;gh;> 1949   b. 26 [dthp> 1950 
c. 26 [dthp> 1949   d. 15 Mf];l;> 1949 

 
142. The President of India can nominate how many members to Rajya 

Sabha? 
a. 2  b. 4  c. 6  d. 12 
,e;jpa FbauRj;jiytuhy; vj;jid uh[;argh cWg;gpdh;fs; epakpf;fg;gLth;? 
a. 2  b. 4  c. 6  d. 12 

 
143. The common refrigerant in domestic refrigerator is 

a. Neon   b. Oxygen 
c. Nitrogen   d. Freon- 12 
tPl;by; gad;glj;jg;gLk; Fsph;rhjd ngl;bapy; Fsph;r;rpA+l;lg;gl;l 
gad;gLj;jg;gLk; thA 
a. epahd;   b. Mf;]p[d; 
c. iel;u[d;   d. /gphpahd; - 12 

 
144. The Present Secretary General of the United Nations Organisation is  

a. Ban Ki-moon  b. Shashi Tharoor 
c. Kofi Annan  d. Ashraf Ghani 
If;fpa ehLfs; rigapd; jw;Nghija nghJr; nrayhysh; 



 

 

a. ghd;fp-%d;   b. rrp j&h; 
c. Nfh/gp md;dhd;  d. m~;u/g; fdp 

 
145. India won World Cup Hockey in the year 

a. 1971  b. 1973  c. 1978  d. 1975 
,e;jpah `hf;fpg; Nghl;bapy; cyf Nfhg;igia ntd;w Mz;L 
a. 1971  b. 1973  c. 1978  d. 1975 
 
 

146. The full form of NABARD is 
a. National Bank for Agriculture and Rural Development 
b. National Books and Research Department 
c. National Bharath Radar Defence 
d. Nuclear and Bharath Radar Defense 

thpthf;fk; jUf. NABARD 
a. National Bank for Agriculture and Rural Development 
b. National Books and Research Department 
c. National Bharath Radar Defence 
d. Nuclear and Bharath Radar Defense 
 

147. The seaport of Pandiyas was 
a. Thondi     b. Musiri 
c. Korkai     d. Poompukar 
ghz;bah;fspd; JiwKfk; 
a. njhz;b  b. Krpwp  c. nfhw;if  d. G+k;Gfhh; 
 

148. Who wrote the book “Gora”? 
a. Dr. S. Radhakrishnan   b. Rabindranath Tagore 
c. Mulk Raj Anand    d. L.K. Advani 
“Nfhuh (Gora)” vd;w Gj;jfj;ij vOjpath; ahh;? 
a. lhf;lh;. v];. uhjhfpU~;zd;  b. ugPe;jpuehj; jh$h; 
c. Ky;f;uh[; Mde;j;    d. vy;.Nf. mj;thdp 

 
149. The name by which Ashoka is generally referred to in his inscription 

is 
a. Chakravarthi    b. Dharmadeva 
c. Priyadarshi    d. Dharmakirti 
mNrhfuJ fy;ntl;Lf;fspy; mtUila ngah; nghJthf vg;gbf; 
Fwpg;gpl;Ls;sJ? 
a. rf;futh;j;jp   b. jh;kNjth; 
c. gphpajh;rp    d. jh;kfPh;j;jp 
 

150. Which of the following provided the revenue for the Delhi Sultanate? 
a. Kharaj     b. Khams 
c. Jiziya     d. Zakat 



 

 

by;yp Ry;jhd; muRf;F tUtha; fPo;f;fz;litfspy; vjd; %yk; 
mspf;fg;gl;lJ? 
a. fuh[;  b. fhk;]; c. [p]pah d. [hfj; 
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